



اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{3}{6} + \frac{1}{5} + \frac{3}{5} =$$

$$\frac{1}{6} + \frac{4}{9} + 1\frac{2}{5} =$$

$$\frac{1}{2} + \frac{2}{7} + \frac{5}{9} =$$

$$\frac{1}{7} + \frac{4}{6} + \frac{2}{6} =$$

$$\frac{4}{6} + \frac{1}{8} + \frac{3}{6} =$$

$$\frac{2}{7} + 2\frac{1}{3} + 1\frac{2}{3} =$$

$$\frac{6}{8} + \frac{2}{5} + \frac{6}{9} =$$

$$\frac{4}{3} + \frac{3}{2} + \frac{5}{7} =$$

$$\frac{1}{8} + \frac{2}{6} + \frac{2}{8} =$$

$$\frac{2}{9} + 1\frac{3}{4} + 1\frac{1}{6} =$$



اسم: _____

التاريخ: _____

$$\frac{3}{6} + \frac{1}{5} + \frac{3}{5} = \frac{13}{10} = 1\frac{3}{10}$$

$$\frac{1}{6} + \frac{4}{9} + 1\frac{2}{5} = \frac{181}{90} = 2\frac{1}{90}$$

$$\frac{1}{2} + \frac{2}{7} + \frac{5}{9} = \frac{169}{126} = 1\frac{43}{126}$$

$$\frac{1}{7} + \frac{4}{6} + \frac{2}{6} = \frac{8}{7} = 1\frac{1}{7}$$

$$\frac{4}{6} + \frac{1}{8} + \frac{3}{6} = \frac{31}{24} = 1\frac{7}{24}$$

$$\frac{2}{7} + 2\frac{1}{3} + 1\frac{2}{3} = \frac{30}{7} = 4\frac{2}{7}$$

$$\frac{6}{8} + \frac{2}{5} + \frac{6}{9} = \frac{109}{60} = 1\frac{49}{60}$$

$$\frac{4}{3} + \frac{3}{2} + \frac{5}{7} = \frac{149}{42} = 3\frac{23}{42}$$

$$\frac{1}{8} + \frac{2}{6} + \frac{2}{8} = \frac{17}{24}$$

$$\frac{2}{9} + 1\frac{3}{4} + 1\frac{1}{6} = \frac{113}{36} = 3\frac{5}{36}$$